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I'm hungry
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Saja :Would you like to go shopping tomorrow night
?

Sarah :We have guests coming from out of town.
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z o s- Non-verbal communication :
gestures s paralanguage leiss
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3. Connecting one utterance to another previous
utterance unconsciously is known as ...

A. Prototype

B. Gesture

C. Collocation

D. Implicature



5. Which of the followings has tones that would
possibly change the interpretation of a spoken
message”?

A. Deixis

B. Prosody

C. Gesture

D. Maxim

6. Slapping your forehead with the palm of your
hand is a visual sign that could be equivalent to

saying .
A. "l am sleepy"
B. "l forgot"

C. "l smell something"
D. "l don't know"

8. How can you determine the meaning of an
utterance , such as "I'm hungry" ?

A. through the meaning of the sentence only

B. through the individual word and the grammatical
construction in which they occur

C. through the meaning of the sentence in addition
to the physical-social context

D. through the construction of words in a particular
meaningful sequence

12. Paralanguage can be found when the speaker



is ...

A. being vocal but not verbal
B. being verbal but not vocal
C. moving his hands

D. moving his head

50. All the following are example of paralanguage
except for:

A. Nodding

B. Laughing

C. Giggling

D. Crying
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Synonyms : are two or more forms with very closely related
meanings
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Antonyms : Two forms with opposite meanings
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Hyponymy : the meaning of form is included in the meaning of
another
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Homophony : two or more different written forms have the same
pronunciation
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polysemy : one form has multiple meanings that are all related by
extension
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2. "My father purchased a large automobile" | can change the
sentence into "my dad bought a big car " if | want to sound ...
A. more formal
B. less formal
C. very polite
D. impolite

4. They are two or more different written forms that have the same
pronunciation. What are they?
A. Homophones
B. Homonyms
C. Polysemous
D. Hyponyms

9. What is the semantic\lexical relation between banana and fruit?
A. Hyponymy
B. Synonymy
C. Homophony
D. Homonymy




10. Identify the pair of non-gradable antonyms among the followings.
A. dress and undress
B. tall and short
C. male and female
D. old and young

11. Reversive is one type of antonym. Which among the following
examples is reversive?
A. happy and unhappy
B. pack and unpack
C. safe and unsafe
D. fair and unfair

20. What is the semantic\lexical relation between race (the contest of
speed) and race (the ethnic group)?
A. Hyponymy
B. Synonymy
C. Homophony
D. Homonymy

23. What is the semantic\lexical relation between meet and meat?
A. Hyponymy
B. Synonymy
C. Homophony
D. Homonymy

40. "The head of the company needs a new secretary" What does
this sentence contain?
A. Hyponymy
B. Synonymy
C. Homophony
D. Polysemy

41. The word bank (the side of a river) and bank (the financial
institute) are recognized as...
A. Synonymy
B. Homophony
C. Polysemy
D. Homonymy
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13. What are the semantic features required for the subject of this
sentence? " is traveling with his wife to London this week."
A. [+Animate, +Human, +Female, +Adult]
B. [+Animate, +Human, -Female,-Adult]
C. [+Animate, +Human, -Female, +Adult]




D. [+Animate, -Human, -Female, +Adult]
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21. What is your opinion about this sentence? "The table ate the
sandwich."
A. It is syntactically good, but semantically odd.
B. It is syntactically odd, but semantically good.
C. It is both syntactically and semantically odd.
D. It is both syntactically and semantically good.
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Agent: the entity that performs an action




Jia : Ahmed drives the car
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Instrument: the entity used to perform an action
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Experiencer: the entity that has a feeling, perception, or state
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Goal: the end point for a movement

RS, Lgh i e A8 jall dlgill i 0 .,
Jiall 13 g ¢ pmany A Y) il

We drove from jeddah to Abha

by S g0 dileor LAayE 0509 a0 0509 0,uS 050 g_9§>_u.]a.z”®

- el ALY day) 5 pualaall 2y A i) jlis) Aud o
7. This character role can be defined as "the entity undergoing an
action or movement"...
A.The experiencer
B. The theme
C. The location
D. The goal

For questions 16 : 19:
"On her way to work, Sally saw a poor man sitting on the
sidewalk."

16. What is the thematic role for the noun phrase "work" in the
sentence?
A. location
B. source
C. goal
D. instrument

17. What is the thematic role for the noun phrase "Sally" in the
sentence?
A. experiencer
B. agent
C. theme
D. source

18. What is the thematic role for the noun phrase "a poor man" in the
sentence?
A. goal
B. theme
C. experiencer




D. agent

19. What is the thematic role for the noun phrase "the sidewalk" in
the sentence?
A. location
B. goal
C. source
D. instrument

24. Which of the following sentences has the thematic role
“Instrument™?
A. The boy cut the rope with a razor
B. The boy felt happy
C. The boy saw the rope on the floor
D. The boy returned the razor
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Prototype is about mental representation of meaning or
categorization

a prototype is object or refernt that is considerd typical
of the whole set
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15. It can be defined as the gradual mental
representation of meaning or categorization. What
IS It?

A. reference

B. referent

C. prototype

D. referring expression



22. Among the following four kinds of tea, which
one is considered the most typical of the whole set?
A. strawberry tea

B. Moroccan tea

C. white tea

D. red tea

SN B - 0 5uS Y) oSS e il i sl
L2 G el s Al e dalall 3 jualadd) e cla

15. It can be defined as the gradual mental
representation of meaning or categorization. What
IS it?

A. reference

B. referent

C. prototype

D. referring expression

22. Among the following four kinds of tea, which
one is considered the most typical of the whole set?
A. strawberry tea

B. Moroccan tea

C. white tea

D. red tea
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A referring expression is a noun phrase, that is used in an utterance and
is linked to something outside language, some living or dead or imaginary
entity. That something is the referent
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one waiter can ask another, Where’s the cucumber
salad sittingand receive the reply, He’s sitting by the
window
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14. It is understood as using names associated with things to refer to
people. What is it?
A. reference
B. prototype
C. referent
D. inference

25. Which among these sentences involves a secondary referring
expression?
A. Your sister is pale
B. That one is pale
C. The big cat is pale
D. This rose is pale

26. A waiter at a restaurant asked: "Where's the cucumber salad
sitting?"The cucumber salad in this utterance is best interpreted as ...
A. just a sandwich
B. money
C. a customer
D. the restaurant manager

27. The referring expression "a lake" is considered ...
A. a unique referent
B. a non-unique referent
C. a fixed referent
D. an abstract referent
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14. It is understood as using names associated with things to refer to people. What is it?
A. reference

B. prototype

C. referent

D. inference

25. Which among these sentences involves a secondary referring expression?
A. Your sister is pale
B. That one is pale
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C. The big cat is pale
D. This rose is pale

26. A waiter at a restaurant asked: "Where's the cucumber salad sitting?"The cucumber salad
in this utterance is best interpreted as ...

A. just a sandwich

B. money

C. a customer

D. the restaurant manager

27. The referring expression "a lake" is considered ...
A. a unique referent

B. a non-unique referent

C. a fixed referent

D. an abstract referent
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Deixis : very common words in our language that can’t
be interpreted at all if we don’t know the physical

context of the speaker
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Some sentences of English are virtually impossible to

understand if we

(don’t know (who is speaking, about whom, where and

when
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\We saw a funny YouTube video about a boy washing a puppy in a small
bath
The puppy started struggling and shaking and the boy got really wet
When he let go, it‘jumped out of the bath and ran away\
S il iy 56
- e W s g bl (83 o ) ea A (@ boy, a puppy, a small bath ),
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?0nly one sentence among the followings has a temporal deixis. Which one is it
A. I'm busy now
B. You can't stay here
C. Put them near that
D. These boxes are heavy

?What among the followings is a subsequent reference to an already

introduced entity
A. Antecedent
B. Anaphora
C. Collocation
D. Deixis
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-l s S5 laaxy The co-operation principle :
Make your contribution appropriate to the conversation
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words or phrases used to indicate that we’re not really sure that what
we’re saying is sufficiently correct or complete
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Father to daughter at family dinner: Any news about the exams
result? Daughter: Ice-cream anyone

What maxim does the daughter flout/violate in this conversation -
A.The Maxim of Quality

B.The Maxim of Quantity

C.The Maxim of Relation

D.The Maxim of Manner

By starting an utterance with "As far as | know ..."the speaker is being aware
of the maxim of

A. Quality

B. Quantity

C. Relation

D. Manner

By using the hedge "sort of in "The book was sort of yellow" which maxim
does the speaker show awareness of

A. The Quality Maxim

B. The Quantity Maxim

C. The Relation Maxim

D. The Manner Maxim

) e sla ¢ s, @
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Father to daughter at family dinner: Any news about the exams
result? Daughter: Ice-cream anyone
What maxim does the daughter flout/violate in this conversation -




A.The Maxim of Quality
B.The Maxim of Quantity
C.The Maxim of Relation
D.The Maxim of Manner

By starting an utterance with "As far as | know ..."the speaker is being aware
of the maxim of

A. Quality

B. Quantity

C. Relation

D. Manner

By using the hedge "sort of in "The book was sort of yellow" which maxim
does the speaker show awareness of

A. The Quality Maxim

B. The Quantity Maxim

C. The Relation Maxim

D. The Manner Maxim
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Father to daughter at family dinner: Any news about the exams
result? Daughter: Ice-cream anyone

What maxim does the daughter flout/violate in this conversation -
A.The Maxim of Quality

B.The Maxim of Quantity

C.The Maxim of Relation

D.The Maxim of Manner

By starting an utterance with "As far as | know ..."the speaker is being aware
of the maxim of

A. Quality

B. Quantity

C. Relation

D. Manner

By using the hedge "sort of in "The book was sort of yellow" which maxim



does the speaker show awareness of
A. The Quality Maxim

B. The Quantity Maxim

C. The Relation Maxim

D. The Manner Maxim
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Father to daughter at family dinner: Any news about the exams
result? Daughter: Ice-cream anyone

What maxim does the daughter flout/violate in this conversation -
A.The Maxim of Quality

B.The Maxim of Quantity

C.The Maxim of Relation

D.The Maxim of Manner

By starting an utterance with "As far as | know ..."the speaker is being aware of the
maxim of

A. Quality

B. Quantity

C. Relation

D. Manner

By using the hedge "sort of in "The book was sort of yellow" which maxim does the
speaker show awareness of

A. The Quality Maxim

B. The Quantity Maxim



C. The Relation Maxim

D. The Manner Maxim
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hedge 'so, to cut a long story short awareness of

a- the quality maxim

b- the quantity maxim
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c— the relation maxim

d—- the manner maxim
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hedges .. ¢ Al any-
words or phrases used to indicate that we’re not really

sure that what we’re saying is sufficiently correct or

complete
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words or phrases used to indicate that we’re not really

sure that what we’re saying is sufficiently correct or

complete
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Certain words tend to appear together or keep company
This keeping company is what is called in semantics collocation
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A collocation is : a pair or group of words that are often used together
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Certain words tend to appear together or keep company

This keeping company is what is called in semantics collocation
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A collocation is : a pair or group of words that are often used together
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charge vs load

A S £ LiY) ae aadiud charge of Jisis 430 466l as) ye Y1 ALK
Db bl S35 g oy Jisal) Jie
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injure vs damage
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The shop tried to sell me a damaged sofa
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What a speaker assumes is true or known by a
listener can be described as
A. prototype
B. deixis
C. collocation
D. presupposition

What is one obvious presupposition of a speaker
who says: "l regret talking to Tom
A. That he has a friend nhamed Tom
B. That he did not talk to Tom
C. That he will fight with Tom
D. That talked to Tom
A 5% s pas iy g 3lke @l (IS Ua obvious
presupposition , - o b=l :
| regret talking to Tom s i ¢ a5 o A3 L) o 4]
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What is one obvious presupposition of a speaker
who says: "your sister is waiting outside
A. That you are late for your sister
B. That you have a sister
C. That you need to leave with your sister right now
D. That you regret having a sister




What is one obvious presupposition in this
sentence: "Majed renewed his subscription to Sport
magazine
A. That his subscription has expired
B. That Sport magazine is a cheap magazine
C. That he reads Sport magazine everyday
D. That renewing the subscription is easy
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(1)Semantics is:

a)The study of words origins.

b)The study of words meaning.

¢)The study of how words are structured in sentences.

d)The study of meaning that a word or a sentence has in a
particular context

(2)Language speakers can say one thing and mean
another thing through

a)The usual meaning of a word or a sentence.
b)What words mean in the dictionary.

¢)The meaning that a word or a sentence has in specific contexts or circumstances.
d)What sentences mean without looking at the context.

(3)All the followings are examples of paralanguage
except for:



a)Nodding
b)Laughing
¢)Giggling
d)Crying

(4)The meaning of a word is included in another
word, In the case of:

a)Polysemy
b)Synonymy

c)Hyponymy
d)Entailment

(5)What is the basic lexical relation between each
pair of words listed here?

a)story& tale >> Synonym
b)heavy& light >> Antonym

c)fruit& banana >> Hyponym

d)peace& piece >> Homophone

(6)What does “prototype” mean? lllustrate your

definition with an example.
ALl 8 aalali - pall g abial) g cay el
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(7)Waitingimpatiently for food at a restaurant, the man said: “l can eat a horse right
now.”

Explain the meaning of this quotation in some
details.
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(8)Identify the semantic roles of the seven noun
phrases in this sentence:
With her newgolf club, Fatimah whacked the ball



from the woods to the grassy area near the hole
and she suddenly felt unbeatable.
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(1)Use semantic features to explain the reason these sentences

) sound odd.
2L aleal) 4l ¢ ) 55 lile 5 a8 dailad) sl @
a)The chicken studies mathematics.
anlaall o La o35 aleall ()€ s ¢ Gl )l GasS asladll - human s se ..
b)The train will marry Jessica.
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(2)Tell which of the following opposite.s. are gradable, non-gradable,

or reversive.
afill it/ empty it >> s sy
b)absent/ present >> Jua - o5
c)old / young >> Jwu »
d)fair / unfair >> Jx - 5

(1)What kind of inference is involved in interpreting each of these

utterances?
a)Teacher:You can borrow my Shakespeare. aul 4w (aiill so CUSH 3 gey lin 5auSs
b)Waiter:The ham sandwich left without paying. ol 255 ba (i sailu alell
c)Nurse:The hernia in room 5 wants to talk to the doctor.
d)Dentist:My eleven4hirty canceled so | had an early lunch.

(4)Which of these utterances contain “performative verbs” and how
did you decide?
a)l apologize. >> lxic) 43Y 5 Casla ;58 5 La
b)(2)1 bet you $20.
¢)She won the bet.
d)l drive a Mercedes.
e)You must have a lot of money.
f)l testify there is no God but Allah >> (Y J5a% ler 3l b s G 51O 19 4 oy Caile 58 Lia
Cpmif Opad gl Gy Caila g8 m iy s il Jadl ¢ )53l e (e Sl IS5 Lol ddlladl (padi ¢ aluse sy o30sY)
g Alle (e oaa ol Jsati il 2 oS Glans e .




(5)What would you call two or more words that often go together, as
in the word blond usually going with hair?

Give two more examples to illustrate.
185 Lo (i s 0SSl (e QIS La

(6)The Co-Operative Principle was suggested by the philosopher?
9 n B | A ht el s o pgand & L

(7)Each of B’s utterances below would probably flout (ignore) one of the four maxims.
Say what maxim the speaker is flouting, and give a possible reason for this ignorance.
A.Do you want to go to the movies tonight?

B.My little sister is coming for a visit.

The maxim flouted? A possible reason?
leibaa jelie 7 jad gutles 135 JiSTAGT 0 5S5 o LY (S ¢ panaSla g gy )
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A.Where are you going?

B.Out.

~ maxim flouted? A possible reason?
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